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1. The marks obtained in mathematics by 30

students of Class X of a certain scholl are


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ubvkHsUhimhO

given in table the below. Find the mean of the

marks obtained by the students.

Marks obtained (x; ) 10 [ 20 |36 |40 | 50 | 56 | 60 | 70| 72 | BO | BB | 92| 95

Number of student (f}) | 1 1 3 4 ;| 2 4 4 1 1 2 3 1

o View Text Solution

2. The table below gives the percentage
distribution of female teachers in the primary
schools of rural areas of various states and
union territories (U.T) of India. Find the mean

percentage of female teachers using all the


https://dl.doubtnut.com/l/_ubvkHsUhimhO
https://dl.doubtnut.com/l/_e2K89LYOOSsz

three methods.

Percentage of female teachers

15-25 | 25-35 35-45 45-55

553-63

65-73] 75-83

MNumber of StatesU. T.

o View Text Solution

3. The below distribution shows the numbers
of wickets taken by bowkers in one-day cricket
matches. Find the mean number of wickets by

choosing a suitable method. What does the

mean signify ?

MNumber of wickets |20 - 60

60 - 100| 100 - 150

150 - 250

250 - 350

350 — 450

Number ofbowlers| 7

5 16

12

2

3

I o View Text Solution



https://dl.doubtnut.com/l/_e2K89LYOOSsz
https://dl.doubtnut.com/l/_UhFMJSmLm5gO

4. The wickets taken by a bowler in 10 cricket
matches are as follows: 2,6,4,5,0,2,1,3,2,3. Find

the mode of the data.

o Watch Video Solution

5. A survey conducted on 20 households in a
locality by a group of students resulted in the
following frequency table for the number of

family members in a household.


https://dl.doubtnut.com/l/_UhFMJSmLm5gO
https://dl.doubtnut.com/l/_BDk6CfQN98GT
https://dl.doubtnut.com/l/_CoLMZFKGj5jR

Farmly size 1-3 3-5 5-7 7-9 2-11
Number of families 7 8 2

b2

Find the mode of this data.

° Watch Video Solution

6. The marks distribution of 30 students in a
mathematics examination are given in the
adjacent table. Find the mode of this data.

Also compare and interpret the mode and the


https://dl.doubtnut.com/l/_CoLMZFKGj5jR
https://dl.doubtnut.com/l/_PfLeC6roYTBQ

mean .

Class mterval Number of Class Marks (x, ) 7%
students ()

10-25 2 17.5 35.0
25-40 3 325 897.5
40-55 7 47.5 3325
55-70 6 62.5 375.0
70-85 6 71.5 465.0
§5-100 6 92.5 555.0
Total T£=30 T fix, =1860.0

o View Text Solution

7. A survey regarding the heights (in cm) of 51
girls of Class X of a school was conducted and

data was obtained as shown in table. Find


https://dl.doubtnut.com/l/_PfLeC6roYTBQ
https://dl.doubtnut.com/l/_q355lXmLXr72

their median.

Height (in cm) Number of girls
Lessthan 140 4
Lessthan 145 11
Lessthan 130 29
Lessthan 135 40

Less than 160 46

Less than 165 51

° View Text Solution

8. The median of the following data is 525.

Find the values of x and y , if the total


https://dl.doubtnut.com/l/_q355lXmLXr72
https://dl.doubtnut.com/l/_JUYwV5SgqsS7

frequency is 100. Here, Cl stands for class

interval and Fr for frequency.

CI | 0-100 | 100- | 200- | 300- | 400-| 500- | 600- | 700- ( 800- | 900-
200 | 300 | 400 500 600 700 800 900 | 1000

Fr 2 5 x 12 17 20 ¥y 9 7 -

o Watch Video Solution

9. The annual profits earned by 30 shops in
Sangareddy locality give rise to the following

distribution :


https://dl.doubtnut.com/l/_JUYwV5SgqsS7
https://dl.doubtnut.com/l/_K0ZaupbwGxso

Profit (in lakhs) Number of shops (frequency)
More than or equalto 3 30
More than or equalto 10 28
More than or equalto 15 16
More than or equalto 20 14
More than or equal to 25 10
More than or equal to 30 7
More than or equalto 35 3

Draw both ogives for the data above. Hence

obtain the median profit.

o View Text Solution

Exercise 14 1

1. A survey conducted by a group of students

as a part of their environment awareness


https://dl.doubtnut.com/l/_K0ZaupbwGxso
https://dl.doubtnut.com/l/_3hDjUe5Jiogw

programme, in which they collected the
following data regarding the number of plants
in 20 houses in a locality. Find the mean

number of plants per house.

914 vl 0-2 2.4 4-6 6-8 8-10 10-12 12-14
a2l vl 1 2 1 5 6 2 3

o Watch Video Solution

2. Consider the following distribution of daily

wages of 50 workers of a factory.

2[As da (i) 500-520 520-540 540-560 560-580 580-600
AR v 12 14 08 06 10



https://dl.doubtnut.com/l/_3hDjUe5Jiogw
https://dl.doubtnut.com/l/_QXUFtsb8ODDc

Find the mean daily wages of the workers of

the factory by using an appropriate method.

o View Text Solution

3. The following distribution shows the daily
pocket allowance of children of a locality. The
mean pocket allowance is Rs 18. Find the

missing frequency f.

s Braowy (T i) [ 11-13 | 13-15 | 1517 | 17-19 | 1921 | 2123 23-25
sumsi-l divan 7 6 g 13 f 5 4

° View Text Solution



https://dl.doubtnut.com/l/_QXUFtsb8ODDc
https://dl.doubtnut.com/l/_mgZ7wiKbRStr
https://dl.doubtnut.com/l/_R1mOJ91pl6Eo

4. Thirty women were examined in a hospital

by a doctor and their heart beats per minute

were recorded and summarised as shown

Find the mean heart beats per minute for

these women, choosing a suitable method.

qoys1z1-l v

Ul [lRe geu-u

65-68

68-71

71-74

74-77

77-80

80-83

83-86

uRenwil-Al v

o Watch Video Solution

5. In a retail market, fruit vendors were selling

oranges

kept

in packing baskets.

These


https://dl.doubtnut.com/l/_R1mOJ91pl6Eo
https://dl.doubtnut.com/l/_QYkecjPnAewN

contained varying number of oranges. The

following was the distribution of oranges.

324l vl 50-52 53-55 56-58 59-61 62-64

vilgisiil v 15 110 135 115 25

Find the mean number of oranges kept in each
basket. Which method of finding the mean did

you choose ?

o Watch Video Solution

6. The table below the daily expenditure on

food of 25 household in a locality.

s wal (T ui) | 100-150 | 150-200 | 200-250 | 250 -300 | 300 -350
yRBaidiAl vt 4 5 12 2 2



https://dl.doubtnut.com/l/_QYkecjPnAewN
https://dl.doubtnut.com/l/_80CbzRYFjNW5

Find the mean dialy expenditure on a food by

a suitable method.

° View Text Solution

7. To find out the concentration of SO, in the
air (in parts per million, i.e, ppm), the data was
collected for 30 localities in a certain city and

is presented below :


https://dl.doubtnut.com/l/_80CbzRYFjNW5
https://dl.doubtnut.com/l/_ptcWb0DjrMVY

SO, uisdl (ppm ui) gl

0.00 - 0.04 -
0.04 - 0.08
0.08 - 0.12
0.12 - 0.16
0.16 - 0.20
0.20 - 0.24

2 R WD WD

Find the mean concentration of SO, in the air.

° View Text Solution

8. A class teacher has the following attendence
record of 40 students of a class for the whole

term. Find the mean number of days a student


https://dl.doubtnut.com/l/_ptcWb0DjrMVY
https://dl.doubtnut.com/l/_wU77IFJXfR8i

was present out of 56 days in the term.

Aoz Raslll vt | 0-6 | 6-10 |10-14 [14-20 [20-28 | 28-38 | 38-40
[RenefloiiAl 2ivan 1 10 7 4 4 3 1

o Watch Video Solution

9. The following table gives the literacy rate (in
percentage) of 35 cities. Find the mean literacy

rate.

WL e2 (250 M) | 45-55 55 -65 65 - 75 75 - 85 85-95
ALl 2Aval 3 10 11 8 3

o View Text Solution



https://dl.doubtnut.com/l/_wU77IFJXfR8i
https://dl.doubtnut.com/l/_r65D9JadfMvv

Exercise 14 2

1. The following table shows the ages of the
patients admitted in a hospital on a particular

day:

Guz (adui) | 5-15 15-25 25-35 | 35-45 | 45-55 55- 65

el v 6 1 21 23 14 5

Find the mode and the mean of the data given
below. Compare and interpret the two

measures of central tendency.

o View Text Solution



https://dl.doubtnut.com/l/_TapUkiWwjyJ3

2.The following data gives the information on
the observed life times (in hours) of 225

electrical components:

sy (sasmi) | 0-20 20-40 | 40-60 | 60-80 | 80-100 | 100- 120

gl 10 2k 52 61 38 29

Determine the modal lifetimes of the

components.

o View Text Solution

3. The following data gives the distribution of

total monthly household expenditure of 200


https://dl.doubtnut.com/l/_xmhL9Up5UMxJ
https://dl.doubtnut.com/l/_2KvFzslt1Avw

families of Gummadidala village. Find the
modal monthly expenditure of the families.

Also, find the mean monthly expenditure.

RS wa (T ui) ol val
1000 - 1500 24
1500 - 2000 40
2000 - 2500 33
2500 - 3000 28
3000 - 3500 30
3500 - 4000 22
4000 - 4500 16
4500 - 5000 7

o View Text Solution



https://dl.doubtnut.com/l/_2KvFzslt1Avw

4. The following distribution distribution given
the state-wise, teacher-student ratio in higher
secondary schools of India. Find the mode and

mean of this data. Interpret the two measures.

wi G RendliAl 2iva Ao/t R uzali-l 2ivay
15-20 3
20-25 8
25 - 30 9
30 -35 10
35-40 3
40 - 45 0
45 - 50 0
50 - 55 a

° View Text Solution



https://dl.doubtnut.com/l/_ACZMlqhBut89

5.The given distribution shows the number of
runs scored by some top batsmen of the world

in one-day international cricket matches.

Alde - slauu-HlL vl
3000 - 4000 4
4000 - 5000 18
5000 - 6000 9
6000 - 7000 7
7000 - 8000 6
8000 - 9000 3
9000 - 10000 1
10000 - 11000 1

Find the mode of the data.

o View Text Solution



https://dl.doubtnut.com/l/_dY7cdvU39zuX

6. A student noted the number of cars passing
thorugh a spot on a road for 100 periods, each
of 3 minutes, and summarised this in the table

given below.

a1l vl | 0-10 [ 10-20{20-30|30-40| 40-50 [ 50 - 60 | 60 -70 | 70 - 80

ug 7 14 13 12 20 11 15 8

Find the mode of the data.

o View Text Solution

Exercise 14 3



https://dl.doubtnut.com/l/_FejrMMIb0M15

1. The following frequency distribution gives
the monthly comsumption of electricity of 68
consumers of a locality. Find the median, mean

and mode of the data and compare them.

Ws auaa (HsHul) Sl dvul
65 - 85 4
85 - 105 5
105 - 125 13
125 - 145 20
145 - 165 14
165 - 185 8
185 - 205 4

o View Text Solution



https://dl.doubtnut.com/l/_GL9SNyeO2T5E

2. If the median of 60 observations, given

below is 28.5, find the values of x and y.

adl-vidad wugln

0-10 5

10 - 20 x

20 =30 20

30 - 40 15

40 - 50

50 - 60 5
54 60

o View Text Solution

3. A life insurance agent found the following

data about distribution of ages of 100 policy


https://dl.doubtnut.com/l/_IqWlYOvxDR5Y
https://dl.doubtnut.com/l/_s9wBgmUrFHbq

holders. Calculate the median age. [ Policies
are given only to persons having age 18 years

onwards but less than 60 years.]

Gu (adui) vil@Nlmzsi-l iva
20 ol 211l 2
25 ol il 6
30 «l Al 24
35 ¢l il 45
40 ¢l sl 78
45 4l >l 89
50 #l il 92
55 ¢l il 98
60 ¢l wildl 100

o View Text Solution



https://dl.doubtnut.com/l/_s9wBgmUrFHbq

4. The lengths of 40 leaves of a plant are
measured correct to the nearest millimetre,
and the data obtained is represented in the

following table:

doud ([lui) wigsivdiAl v
118 - 126 3
127 - 135 5
136 - 144 9
145 - 153 12
154 - 162 5
163 - 171 4
172 - 180 2

Find the median length of the leaves. (Hint:
The data needs to be converted to continuous
classes for finding the median , since the

formula assumes continuous classes. The


https://dl.doubtnut.com/l/_tGocz3lgF7Uz

classes then change to 117.5-126.5, 126.5-135.5,

....... 171.5-180.5.)

° Watch Video Solution

5. The following table gives the distribution of

the life-time of 400 neon lamps

iy (sesimi) alleu-l vy

1500 - 2000 14
2000 - 2500 56
2500 - 3000 60
3000 - 3500 86
3500 - 4000 74
4000 - 4500 62
4500 - 5000 48

Find the median life time of a lamp.

| e |


https://dl.doubtnut.com/l/_tGocz3lgF7Uz
https://dl.doubtnut.com/l/_IeNhWsIZLGuv

| & Watch Video Solution

6. 100 surnames were randomly picked up
from a local telephone directory and the
frequency distribution of the number of
letters in the English alphabet in the

surnames was obtained as follows

Al 2w 1-4 4-7 7-10 10-13 13- 16 16 - 19

24251l 2ival 6 30 40 16 4 4

Determine the median number of letters in
the surnames . Find the mean number of
letters in the surnames ? Also, find the modal

size of the surnames.



https://dl.doubtnut.com/l/_IeNhWsIZLGuv
https://dl.doubtnut.com/l/_GE7gFeCMDLDe

\ o View Text Solution

7. The distribution below gives the weights of
30 students of a class. Find the median weight

of the students.

ax- (Bawi) 40-45|45-50[50-55 | 55-60 |60-65 | 65-70 |70 - 75
Reuellzil 2ivan 5 3 8 6 6 3 2

o Watch Video Solution

Exercise 14 4



https://dl.doubtnut.com/l/_GE7gFeCMDLDe
https://dl.doubtnut.com/l/_Hdz2xIWU3Uxv

1. The following distribution gives the daily

income of 50 workers of a factory.

B[ ddt (THi) | 100-120 | 120-140 | 140 - 160 | 160 - 180 | 180 - 200

snei-l v 12 14 8 6 10

Convert the distribution above to a less than
type cumulative frequency distribution, and

drawn its ogive.

o Watch Video Solution

2. During the medical check-up of 35 students

of a class, their weights were recorded as


https://dl.doubtnut.com/l/_p1tP5exVTYW7
https://dl.doubtnut.com/l/_O6NVuQLclJBy

follows :

ax (Galaumui) Renell>0-Al vl
38 s2di g 0
40 53l {19 3
42 sl gy 5
44 s3di 119 9
46 53l 11t 14
48 sl il 28
50 53l i 32
52 sl i 35

Draw a less than type ogive for the given data.
Hence, obtain the median weight from the
graph and verify the result by using the

formula.

o View Text Solution



https://dl.doubtnut.com/l/_O6NVuQLclJBy
https://dl.doubtnut.com/l/_xu4CaexBBNCp

3. The following table gives production yield

per hectare of wheat of 100 farms of a village.

Gewer audL | S0-55 | 55-60 60-65 | 65-70 | 70-75 75 - 80
(Baydser)

vl aivan 2 8 12 24 38 16

Change the distribution to a more than type

distribution , and draw its ogive.

o Watch Video Solution

1. Find the mode of the following data.

5,6,9,10,6,12,3,6,11,10,4,6,7


https://dl.doubtnut.com/l/_xu4CaexBBNCp
https://dl.doubtnut.com/l/_41hEod0rD2Dk

° Watch Video Solution

2. Find the mode of the following data.

20,3,7,13,3,4,6,7,19,15,7,18,3

o Watch Video Solution

3.1s the mode always at the centre of the data

?

° Watch Video Solution



https://dl.doubtnut.com/l/_41hEod0rD2Dk
https://dl.doubtnut.com/l/_lw7Vq3Ovw3e9
https://dl.doubtnut.com/l/_w6EykBVlgp8P

Think And Discuss

1. The mean value can be calculated from both
ungrouped and grouped data. Which one do

you think is more accurate? Why?

° Watch Video Solution

2. When is it more convenient to use grouped

data for analysis?

o Watch Video Solution



https://dl.doubtnut.com/l/_iIsRbQjn4PMD
https://dl.doubtnut.com/l/_fYjxXIXVKqkK

3. Is the result obtained by all the three

methods same?

o Watch Video Solution

4.If £, and f; are sufficiently small, then which

method is an appropriate choice?

o Watch Video Solution



https://dl.doubtnut.com/l/_HlTo9ghLUgz5
https://dl.doubtnut.com/l/_yS4Y0udMfFaT

5.If x; and f; are numerically large numbers,

then which methods are appropriate to use?

o Watch Video Solution

6. It depends upon the demand of the
situation whether we are interested in finding
the average marks obtained by the students
or the marks obtained by most of the students

What do we find in the first situation?

o Watch Video Solution



https://dl.doubtnut.com/l/_gIhyIdO0BHL8
https://dl.doubtnut.com/l/_vVQUKt1jKIpM

7. It depends upon the demand of the
situation whether we are interested in finding
the average marks obtained by the students
or the marks obtained by most of the students

What do we find in the first situation?

o Watch Video Solution

8. Can mode be calculated for grouped data

with unequal class sizes?

o Watch Video Solution



https://dl.doubtnut.com/l/_vVQUKt1jKIpM
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